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Note: -You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill that circle in front of the
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will resuilt no mark.

SECTION-A (il.»

Q.1 Questions /= Uiy A B c D
. 5 i ‘
1 - brr s B 1000 Jkg ™K™' | 4000 Jkg ™' K" | 4200 Jkg 'K ™' | 810Jkg ™' K™
Specific heat of water is:
2. S AN WA 5o 32°F 0K 37°C
Normal human body's temperature is:
_ (,fc')":‘c.ab /_.fcjxf.u: cif Ll | e i
3. . B | 3Pl eyt 2286
Land breeze blows from: Land to sea Land to sea Sea to land Sea to land
during night during day during night during day
s L L tiedtil A8 1 1 1
4. | The value of "g" at a height one earth's radius 29 P 39 29
above the surface of the earth is: ‘
5 QE:fi;leL/J)LJﬂBu!JJ}._Ja(:7)"‘..(;:
5. | The work done will be zero when the angle between 45° 60° 90° 180°
force and distance is:
1 o j z 934 3 /
B ,Qdﬂgr(ji./u':/duﬂ L—\_//Té_i 8"15—1 SOOmS" 8000]’1’15"
The orbital speed of a low orbit satellite is: —
7 I \deﬁ_/(_g e 8/ s A .l
" | Which of the givén_substance is t’he‘lightest one? Mercury Aluminium Lead
. ek AF 1K1 i ides Ul &
" | Inertia depends upon: Force Net force Mass Velocity
qu&ﬁ:lnféu*’r-_fdaz’{fjg;tf
9. | the number of perpendicular components of a 4 ‘ 2 5 3
force is:
10 ?q’_./‘.{;;lﬁ'(fifé-uf-d! ¢ A Sl .'ﬂ':ku’; »Y
" | Which of the given is a vector quantity? Speed Distance Displacement Power
- ‘o fe i Tetuisd S| 01 2mg 100pg 5000ng
Which one of the given is the smallest quantity?
- PR ISTRA 3 : . "

The number of base units in St is:
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Notei~ Seotion B 18 compulsory. Attempt sny two (2) questions from Section C.
SECTION-B ...
(5x2=10)

2. Write short answers to any five parts.

Define Plasma Physics and Geophysics.

. What s International Systern of Units?

Estimate the age of 16 years in seconde,
Differentiate betwean distance and displacement.

v. Define Rest and Motion.
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vi.  Define Acceleration and write its formula also. A
vii.  When a gun is fired, it recoils, why? Tuig.&!li’e’fé’.:?g,&wu;du&vﬁg A
viil.  Whatwould happen if all the friction suddeniy disappears? fg’”y;&-yﬂﬁsb«\:{i:‘ufy.)dr’:’//ﬂ A
3. Write short answers to any five parts. (5x2=10) .ég/’ -4 L»lzl(ﬂ‘;éi’
L. Whatis meant by centre of gravity? S‘.{.:l/,(g’./.‘;c,:‘”;_//.yl'}b i
il Define Stable Equilibrium and give its two examples also. Ef S (f'lj.:lzf'/hzﬂ'd({/édﬁ’q#p' i
iii.  Whatare artificlal satellites? ‘ S L n L»’u”"!ﬁf’:-":fﬂ:"“' s
iv.  On which factors the arbital speaed of a satsilite depends upon? ?q_(}ﬂ/"gu;,&cﬁjs/: ‘.f.w;da-m" i
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v.  Write the height and velocity of a geostationary satellite with respect to sarth.

vi.  Define Power and write its formuja,
vil.  What are two types of mechaniéa_l energy? ' Aois cff,»ﬁl»é& )Jﬁ? kY
viil.  Differentiate betwesn work andiénef‘gy. -é('jbd G
4. Wirite short answers to any five parts. (5x2=10) iy Mz AL g b

T?Efj‘éjﬂé’—b}f&ﬂ/ i
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. How does heat reach us from tlj:e Su'n?

il. ~ Whatis the effect of length on tflermaf conductivity?
Write down names of four faces of “Leslie Cube”.
Define the terms Heat and Temperature.

v.  Whatis meant by upper and lower fixed poinls of thermometer?

vi.  The temperature of Lahore is 50°C. Convert it into Fahrenhett Scale. _Zé(,t,{i't,}:dccsb:.‘{u;!&é}_é- 50°C & J%ml v
. - . £
vii.  Describe that when the objects float on water and when sink into it? ?ufA—l,ay»'u:JLJIJ»!JL,:"@ILLSL,JIJllef&:u_l,, v
viii.  Define Plasma. What is its relation with electric current? 1‘.7_4:7"1y”il«L&/J,'-‘.’lB’u’l,é.’f:(qﬁJLJt v
BAILIr ) frow
SECTION - C (Each question carries nine 09 Marks)
1 I } 5 y
5. (a) By using speed-time graph, prove that S =¥, ¢ +; ar®  (4+3) S= V,t+5 at’ féuk&fd?’li&l)’fﬁ{ ()
(b) Find the acceleration produced by a force of 100N In a Jﬁgﬂ})-’i kl'fu’;j(ijN uif*t..,_fu:uuﬂffso ()
mass of 50kg. (5) e/
- 2 pd
6. (a) Define Potential Energy. Derive an expression for it at LLu s’ :,I(;Lc’?-)-éqﬂ (jd}ld/‘: PR )
some helght with respect to the Earth. (1+3) ,éi{;;(.:bt/
(b)  The steering of & car has a radlus 16cm. Find the LfLsON -&-18cm (f s KJ.’JJ'_'?..—JV.._(I ()
torque produced by a couple of 50N, (s) _ép‘” ...CWL»L)H*; e
7. (a) State and prove mathematically “Archimedes Principle”.  (1+3) _zi:_—/,v:,Zj,}i,}t;c_tmi-fugu;‘w‘fﬁ,r ()
(b) A container has 2.5 litres of water at 20°C . How much é:‘.l,ff&g,‘,:. 20°C/;’-/,,‘*k’u‘-’<;_(}§}-:'2.5u:c7/.'.l:l ()
heat is required to boii the water? (5) 1‘4:.;?;:#3»(5:/‘;&,!/,2_3_/,
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Note: ~You have four cholces for each objective type question as A, B, C and D. The choice which you think is correct, fill that circle In front of that
question number in your answer book. Use marker or pen to flil the circles. Cutting or filling up two or more circles will result no mark.

SECTION-A (i~

Q1 Questions /Uiy A B c D
N £ TS g% ‘i}"‘{lzl L ¥ .
1.} The product of r./,;d’ d(a)‘f ti , (M)(-j ol 2 i S
he product of mass (/m) and acceleration (a) is Momentum Force Inertia ot
equal to:
; : 7 2
2. -QUf;BVuAJ’-"'d,'V Fo=D" Fow 121’ . Fo=
Formula for centripetal force is: r r I =
3. A Oy 0.1 mm 1.0 mm 1.0cm 1.0m
Least count of a metre rod is:
-Vﬁ/:’-/('/.d‘cw‘—/?ﬂ 20°C/:’"Z4J‘6u"~)“//7
4, | Whatwill be the temperature on Kelvin scale when 273K 293K 300K 373K
itis 20 °C on Celslus scale?
5. e bhosa b AU 0K
Water freezes at: 2 /
7 7
SRV AT I N 1 A R ™
6. . . . ‘ 4
In which of thg given states of matter, molecules'do | Solld Plasma
| notleave their position? e
3 a3 s JES AR # IS L 3 Sl
" | In solids, heat s transferred by: Radiation wgkﬁdu'ction Absorption
T iy
el LR Lt ie il <AS " 1 . 1
8. | The value of "g" at a height one earth's radius 2 -9 5‘9 ZQ
above the surface of the earth is:
Fioriun. e Bhoit 30° LA —x w10 |
" Anaid aN 5N 0 8.N
Force of 10N Is making an angle of 30° with
X — axis, its horizontal component is:
,(r—lrﬁ._‘)ljcﬂ_zui-yliuldj}vzVﬂ/".ﬁ;
10. | The work done will be zero when the angle between 45° 60° 90° 180°
force and distance is:
11 ?4—/‘-("’“’5;{40:0.’ Ly b s} .L»%Jﬁ
" | Which of the given is a vector quantity? Speed Distance Power Displacement
eI §Ur i1 2210.0 g
12. | inthe value 2 10.0g, the number of significant 1 2 3 4
figures is/are:
14-122-A-36700 * k%%
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6. (a) Using Newton’s Law of

r -S.C (9*")-A-2022 ‘f)
Sy T:W Paper () -4 l/,uzh_;.,;/ & 145 iy

. .arks @48 Subjective Jl‘ﬂ'l ‘S 48 ; /
dotai- Section B is compulsory. Attempt any two (2) questions from Section C, -é -::.g!zﬁu:‘!ru:.,(j/ G‘-U:(” e (§ I :.L)_
SECTION-B .y,
2. Write short answers to any five parts. (5x2=10) 2*_{4 740 uW/" L;lil&hcé,f <D
I Whatis meant by base quantities and base units? YKIL‘JI/VLJN.VU}UJ}'U}/{MU)U A
ii.  Whatis meant by positive and negative zero error of screw gauge? Cqslp syl 345 L‘}z)lﬁ/{éé{f A
iii. ~ Convert 12 years into seconds, _éf_:d.«,:ufiiz?fduz il
iv.  Differentiate between vectors and scalars. ,éél;d)uf-)}-pJ;l Ay v
V. Whatis the difference between variable speed and uniform speed? ] ?4__(})_1/0'-' xuyr,cgg,,rgrd:ldy v
vi.  Differentiate between distance and dlsplacement _édt;d}(ﬂwuﬁmkﬁ i
vil. . Whatis the St unit of forca? Define i, ( Ey I s i
viil.  Wrile two disadvantages of friction, ' _égf.:;(:lj»égf/) viii
3. Write short answers to any five parts. (5x2=10) _ég Felin S L,Izlékz.df .3
i. Whatis meant by neutral equilibrium? \‘q_;f/_lg’z_ﬂ/!w{!d}:f B
ii.  Whalis meant by rigid body? S Sl i
iii.  Why does the value of “g” vary from place to place? ?q_dﬁUt!oﬁ(/.UﬂFu‘?&gd “g" i
iv.  Whatis field force? 1‘4_8:7_[3"/,}11} .iv
v.  What are artificial satellites? ; TU.'"L»”J“""’J’W R
Vi.  Define Work. What s its $! unit? te- LS. E G IS S i
vii.  Why do we need energy? ‘ . !‘q..dﬂu/uu/ad/!gﬁ” vii
viil.  Define Patential Energy and write its formula. : ' zﬂhbu!édf‘dd/l()’y! viil
4, Write short answers to any five parts. (5x2=10) é{,’ elig,F L;Mléhéd)’ -4
i.  State the principie of floatation. v ,éd(_f,dr'll(d_,: A
ii.  Define Elasticity. I3
iii.  State Hook's Law and write its formula. -éllr;lilfdlulééukuiﬁhf i
iv. " Define Specific Heat of Substance. ' _éqﬂ'é.u‘g.:all(jé;(f( v
v.  Whatis meant by anemalous expansion of water? ?4,:l/Lf¢3M'xl§'4_LBQ v
vi.  Write the uses of Styrofoam, . -éoﬂWILr};ib Vi
vii.  Why conduction of heat does not take place in gases? \‘L-:rufiu:..{dfb’ug}"ui'/! Wil
viii.  Write down two uses of non-conductors, o ,é‘foUUI’I»L/l'fub viii

UL ILdr ) i
SECTION - € (Each question carrles nine 09 Marks)

5. (a) Derive second equation of motion with the help of {1+3) -éﬁl.-.bl/(j/»d:fic.wdolf('t'fgr (W) .5
speed-time graph.
(b) A body has weight 20N. How much force is required to b.gé_wy}’(é 2ms™ s, 420N Uub‘(’c.f ()
i i Bz purdd & d
move it vertically upwar w:th an accelerauon of 2ms ? (5) SO SO ebd sl

‘rawlatwn fmd tHe mass of the earth (3+1) érl”u’bb’u:/:.w(ju}b'égf'difédn () 6

(b) Calculate the power of a pump which can lift 200kg of k _q,baf(ﬁ.’.-.fdﬂ(jﬁm u:b?10f(}§200kg .r{.;fl (&)
water through a height 6f 6m.in 10 seconds L (8) c’l(r}"» (5-7/
7. (a) Whatis evaporation? Explain any three factorson o 4Ji:ubs(5d’l:'u' 4.4})"‘4.(/(/15-!! W 7
which rate of evaporalion depends. (1+3) , -4..&:1'/0/!5’(;)(&/151!

(5) P UL S bt S Ofes100m WS plrsrmitVsPd ()

(b) A wooden cube of sides 10¢m each has been dipped completely In water. Calculate the upthurst of water acting on it.

14-122-A-36700




